

# Asymptotic behavior of the least-energy solutions of a semilinear elliptic equation with the Hardy-Sobolev critical exponent

Masato Hashizume<sup>1</sup>

*Department of Mathematics, Graduate School of Science, Osaka City University  
3-3-138 Sugimoto Sumiyoshi-ku, Osaka-shi, Osaka 558-8585 Japan*

---

## Abstract

We investigate the existence, the non-existence and the asymptotic behavior of the least-energy solutions of a semilinear elliptic equation with the Hardy-Sobolev critical exponent. In the boundary singularity case, it is known that the mean curvature of the boundary at origin plays a crucial role on the existence of the least-energy solutions. In this paper, we study the relation between the asymptotic behavior of the solutions and the mean curvature at origin.

*Keywords:* asymptotic behavior, boundary singularity, Hardy-Sobolev inequality, minimization problem

---

## 1. Introduction

Let  $N \geq 3$ ,  $\Omega \subset \mathbb{R}^N$  bounded domain with smooth boundary,  $0 < s < 2$ ,  $2^*(s) = 2(N - s)/(N - 2)$  and  $\lambda$  be a positive parameter. In this paper we assume that  $0 \in \partial\Omega$ . We study the existence, the non-existence and the asymptotic behavior as  $\lambda \rightarrow \infty$  of the least-energy solutions of

$$\begin{cases} -\Delta u + \lambda u = \frac{u^{2^*(s)-1}}{|x|^s}, & u > 0 & \text{in } \Omega, \\ \frac{\partial u}{\partial \nu} = 0 & & \text{on } \partial\Omega. \end{cases} \quad (1)$$

---

<sup>1</sup>e-mail:d15san0f06@st.osaka-cu.ac.jp

The existence of the least-energy solution of (1) is equivalent to the existence of the minimizer for the corresponding minimization problem

$$\mu_{s,\lambda}^N(\Omega) = \inf \left\{ \int_{\Omega} (|\nabla u|^2 + \lambda u^2) dx \mid u \in H^1(\Omega), \int_{\Omega} \frac{|u|^{2^*(s)}}{|x|^s} dx = 1 \right\}. \quad (2)$$

Actually, if the minimizer  $u_{\lambda}$  for  $\mu_{s,\lambda}^N(\Omega)$  exists then  $v_{\lambda} := \mu_{s,\lambda}^N(\Omega)^{(N-2)/(4-2s)} u_{\lambda}$  is a least-energy solution of (1) and vice versa.

Minimization problems and semilinear elliptic equations on the Hardy-Sobolev type inequality has been studied extensively by many authors. The Dirichlet case, that is, concerning the attainability for

$$\mu_s^D(\Omega) = \inf \left\{ \int_{\Omega} |\nabla u|^2 dx \mid u \in H_0^1(\Omega), \int_{\Omega} \frac{|u|^{2^*(s)}}{|x|^s} dx = 1 \right\}$$

is studied in [9]-[12], [14], [17]. In the interior singularity case, the remainder term of the Hardy-Sobolev inequality is studied by [18]. The optimal Hardy-Sobolev inequality on compact Riemannian manifold is also studied due to [15].

In the Neumann case, we have obtained some results. In the interior singularity case, the existence and non-existence results of the minimizer for  $\mu_{s,\lambda}^N(\Omega)$  are obtained by [13]. In the boundary singularity case, some results are due to [5], [9] and [13]. Due to these results, the attainability for  $\mu_{s,\lambda}^N(\Omega)$  is different for each situation. In both the Dirichlet case and the Neumann case, the position of 0 on  $\Omega$  affects the attainability for the best constant.

There are many results on the least-energy solutions of the Neumann problem

$$\begin{cases} -d\Delta u + u = u^p, & u > 0 & \text{in } \Omega, \\ \frac{\partial u}{\partial \nu} = 0 & & \text{on } \partial\Omega \end{cases} \quad (3)$$

where  $d > 0$  is a constant. It is shown that the least-energy solution of (3) exists by [1], [25] and so on. Moreover, by for instance [3], [4], [26], [27] Lin-Ni's conjecture is studied, that is, they investigate that for  $d$  sufficiently large whether the solution of (3) is only constant or not.

The asymptotic behavior of the least-energy solutions as  $d \rightarrow 0$  is studied particularly by [2], [19]-[23]. In the subcritical case  $1 < p < (N+2)/(N-2)$ , the least-energy solution has only one maximum point and this point lies on the boundary. Moreover, this maximum point approaches the boundary point of maximum mean curvature as  $d \rightarrow 0$  and the peak is bounded from

above uniformly with respect to  $d$ . On the other hand, in the critical case  $p = (N + 2)/(N - 2)$ , it is proved that peak is at most one and blows up on a boundary point. By [23] we know that the asymptotic behavior of the best constant for the embedding  $H^1(\Omega) \subset L^{2N/(N-2)}(\Omega)$ , that is,

$$S_d^N(\Omega) = \inf \left\{ \|\nabla u\|_{L^2(\Omega)}^2 + \frac{1}{d}\|u\|_{L^2(\Omega)}^2 \mid u \in H^1(\Omega), \|u\|_{L^{\frac{2N}{N-2}}(\Omega)}^2 = 1 \right\}$$

as  $d \rightarrow 0$ . On the asymptotic behavior of the least-energy solutions of (3) and  $S_d^N$  the mean curvature of  $\partial\Omega$  plays a crucial role.

Our main purpose of this paper is to investigate the asymptotic behavior of the least-energy solutions of (1) as  $\lambda \rightarrow \infty$ . In [5] and [9], the existence of the least energy solutions of (1) is guaranteed for any  $\lambda > 0$  if the mean curvature of  $\partial\Omega$  at 0 is positive. Thus it is natural that we investigate the asymptotic behavior of the least-energy solutions of (1). However in the case when the mean curvature at 0 is non-positive, the existence of the least-energy solutions of (1) is not studied so far. As our second purpose of this paper we obtain the answer of this problem through the investigation into the asymptotic behavior.

This paper is organized as follows. In Section 2 we prepare the useful facts and some lemmas. In Section 3 we consider the asymptotic behavior of the least-energy solution of (1). In Section 4 we consider the behavior of  $\mu_{s,\lambda}^N(\Omega)$  as  $\lambda \rightarrow \infty$ . Throughout this two sections we assume the existence of the least-energy solutions of (1) for any  $\Omega$ . In section 5 we show some results on the minimization problem of  $\mu_{s,\lambda}^N(\Omega)$ .

*Remark 1.1.* Since the nonlinear term in (1) has a singularity at 0, solutions are not classical solutions. Indeed, if  $u \in H^1(\Omega)$  is a weak solution of (1) by the elliptic regularity theory  $u \in C_{loc}^2(\overline{\Omega} \setminus \{0\})$  and  $u \in C^{0,\alpha}(\overline{\Omega})$  (see [5], [10]). Therefore we should regard  $\partial/\partial\nu$  as the bounded linear operator from  $W^{2,p}(\Omega)$  to  $L^p(\partial\Omega)$  at 0.

## 2. Preliminaries

In this section we prepare some useful facts.

We recall that some facts about a diffeomorphism straightening a boundary portion around a point  $P \in \partial\Omega$ , which was introduced in [19]-[22]. Through translation and rotation of the coordinate system we may assume that  $P$  is the origin and inner normal to  $\partial\Omega$  at  $P$  is pointing in the direction of

the positive  $x_N$ -axis. In a neighborhood  $\mathcal{N}$  around  $P$ , there exists a smooth function  $\psi(x')$ ,  $x' = (x_1, \dots, x_{N-1})$  such that  $\partial\Omega \cap \mathcal{N}$  can be represented by

$$x_N = \psi(x') = \frac{1}{2} \sum_{i=1}^{N-1} \alpha_i x_i^2 + o(|x'|^2)$$

where  $\alpha_1, \dots, \alpha_{N-1}$  are the principal curvatures of  $\partial\Omega$  at  $P$ . For  $y \in \mathbb{R}^N$  with  $|y|$  sufficiently small, we define a mapping  $x = \Phi(y) = (\Phi_1(y), \dots, \Phi_N(y))$  by

$$\Phi_j(y) = \begin{cases} y_j - y_N \frac{\partial \psi}{\partial x_j}(y') & j = 1, \dots, N-1 \\ y_N + \psi(y') & j = N. \end{cases}$$

The differential map  $D\Phi$  is

$$D\Phi(y) = \begin{pmatrix} \delta_{ij} - \frac{\partial^2 \psi}{\partial x_i \partial x_j}(y') y_N & -\frac{\partial \psi}{\partial x_i}(y') \\ \frac{\partial \psi}{\partial x_j}(y') & 1 \end{pmatrix}_{1 \leq i, j \leq N-1}$$

and near  $y = 0$

$$|J\Phi(y)| = |\det D\Phi(y)| = 1 - (N-1)H(P)y_N + O(|y|^2).$$

We write as  $\Psi(x) = (\Psi_1(x), \dots, \Psi_N(x))$  instead of the inverse map  $\Phi^{-1}(x)$ .  $B_r(a)$  denotes a open ball with center  $a$  and radius  $r$ . In addition, suppose  $B_r = B_r(0)$  and  $B_r^+ = \{y \in B_r | y_N > 0\}$ .

We set a function as

$$U(x) = \left( 1 + \frac{|x|^{2-s}}{(N-s)(N-2)} \right)^{-\frac{N-2}{2-s}}. \quad (4)$$

Note that  $U(0) = 1$  and  $U$  is a minimizer for

$$\mu_s := \inf \left\{ \int_{\mathbb{R}^N} |\nabla u|^2 dx \mid u \in D^{1,2}(\mathbb{R}^N), \int_{\mathbb{R}^N} \frac{|u|^{2^*(s)}}{|x|^s} dx = 1 \right\} \quad (5)$$

which is the best constant for the Hardy-Sobolev inequality. For  $U$  define the scaling function by

$$U_\varepsilon(x) = \varepsilon^{-\frac{N-2}{2}} U\left(\frac{x}{\varepsilon}\right).$$

We have the following lemma regarding  $\mu_{s,\lambda}^N(\Omega)$ .

**Lemma 2.1.** (i)  $\mu_{s,\lambda}^N(\Omega)$  is continuous and non-decreasing with respect to  $\lambda$ .

(ii) For any  $\lambda > 0$ ,  $\mu_{s,\lambda}^N(\Omega) \leq \mu_s/2^{(2-s)/(N-s)}$ .

(iii)  $\lim_{\lambda \rightarrow 0} \mu_{s,\lambda}^N(\Omega) = 0$ .

*Proof.* We show only part (ii).

For given  $\phi \in C^1(\Omega \cap \mathcal{N}_0)$  we set  $\tilde{\phi}(y) = \phi(\Phi(y))$ , where  $\mathcal{N}_0$  is a neighborhood around 0 such that  $\Omega \cap \mathcal{N}_0 = \Phi(B_\delta^+)$ . If  $\tilde{\phi}(y)$  is a radially symmetric function, we have

$$\begin{aligned} \int_{\Omega \cap \mathcal{N}_0} |\nabla \phi(x)|^2 dx &= \frac{\omega_{N-1}}{2} \int_0^\delta r^{N-1} |\tilde{\phi}'|^2(r) dr \\ &\quad - \frac{(N-1)\pi^{\frac{N-1}{2}}}{(N+1)\Gamma(\frac{N+1}{2})} H(0) \int_0^\delta r^N |\tilde{\phi}'|^2(r) dr \\ &\quad + \int_0^\delta O(r^{N+1}) |\tilde{\phi}'|^2(r) dr, \end{aligned} \quad (6)$$

$$\int_{\Omega \cap \mathcal{N}_0} |\phi(x)|^2 dx = \frac{\omega_{N-1}}{2} \int_0^\delta r^{N-1} \tilde{\phi}^2(r) dr + \int_0^\delta O(r^N) |\phi^2|(r) dr, \quad (7)$$

$$\begin{aligned} \int_{\Omega \cap \mathcal{N}_0} \frac{\phi^{2^*(s)}}{|x|^s} dx &= \frac{\omega_{N-1}}{2} \int_0^\delta r^{N-s-1} \tilde{\phi}^{2^*(s)}(r) dr \\ &\quad - (N-1) \left[ 1 - \frac{s}{2(N+1)} \right] \frac{\pi^{\frac{N-1}{2}}}{\Gamma(\frac{N+1}{2})} H(0) \int_0^\delta r^{N-s} \tilde{\phi}^{2^*(s)}(r) dr \\ &\quad + \int_0^\delta O(r^{N-s+1}) \tilde{\phi}^{2^*(s)}(r) dr, \end{aligned} \quad (8)$$

where  $\omega_{N-1}$  is the surface area of a unit sphere. Set a cut-off function  $\eta(y) = \eta(|y|)$  such that support of  $\eta$  is in  $B_\delta$  and  $\eta = 1$  in  $B_{\delta/2}$ . Choosing  $\eta(y)U_\varepsilon(y)$

as  $\tilde{\phi}$  in (6), (7) and (8) and hence we obtain

$$\begin{aligned} & \frac{\int_{\Omega} (|\nabla(\eta U_{\varepsilon})|^2 dx + \lambda |\eta U_{\varepsilon}|^2) dx}{\left( \int_{\Omega} \frac{|\eta U_{\varepsilon}|^{2^*(s)}}{|x|^s} dx \right)^{2/2^*(s)}} \\ = & \begin{cases} \left( \frac{1}{2} \right)^{\frac{2-s}{N-s}} \mu_s - c_1 H(0) \varepsilon + [\lambda (c_2 + O(\varepsilon |\log \varepsilon|)) + O(\varepsilon)] \varepsilon^2 & (N \geq 5) \\ \left( \frac{1}{2} \right)^{\frac{2-s}{N-s}} \mu_s - c_1 H(0) \varepsilon + [\lambda (c_2 + O(|\log \varepsilon|^{-1})) + O(1)] \varepsilon^2 |\log \varepsilon| & (N = 4) \\ \left( \frac{1}{2} \right)^{\frac{2-s}{N-s}} \mu_s - c_1 H(0) \varepsilon |\log \varepsilon| + [\lambda (c_2 + O(\varepsilon)) + O(1)] \varepsilon & (N = 3) \end{cases} \end{aligned}$$

where  $c_1, c_2$  are positive constants which depend only on  $N$ . Tending  $\varepsilon$  to 0 and we obtain the estimate of part (ii).  $\square$

**Lemma 2.2.** *We have either*

(i) *There exist  $\tilde{\lambda}$  such that for  $\lambda \geq \tilde{\lambda}$*

$$\mu_{s,\lambda}^N(\Omega) = \left( \frac{1}{2} \right)^{\frac{2-s}{N-s}} \mu_s, \quad (9)$$

or

(ii) *For all  $\lambda$  the equality (9) does not hold and*

$$\lim_{\lambda \rightarrow \infty} \mu_{s,\lambda}^N(\Omega) = \left( \frac{1}{2} \right)^{\frac{2-s}{N-s}} \mu_s. \quad (10)$$

where  $\mu_s$  is defined by (5). To prove this lemma, we prepare one proposition.

**Proposition 2.3.** *Fix  $\varepsilon > 0$  sufficiently small. Then there exists a positive constant  $C = C(\varepsilon)$  such that for  $u \in H^1(\Omega)$*

$$\left( \frac{1}{2} \right)^{\frac{2-s}{N-s}} \mu_s \left( \int_{\Omega} \frac{u^{2^*(s)}}{|x|^s} \right)^{2/2^*(s)} \leq (1 + \varepsilon) \int_{\Omega} |\nabla u|^2 dx + C \int_{\Omega} u^2 dx. \quad (11)$$

*Proof of Proposition 2.3.* We choose small constant  $\delta > 0$ ,  $r > 0$  and  $V$  which is a neighborhood around 0 such that

$$x_N = \psi_0(x') = \frac{1}{2} \sum_{i=1}^{N-1} \alpha_i x_i^2 + o(|x'|^2), \quad |\nabla \psi_0(x')| \leq \delta \quad \text{on} \quad \partial\Omega \cap V,$$

and  $\{(x', x_N - \psi_0)| (x', x_N) \in \Omega \cap V\} = B_r^+$ .

Due to [13] there exists a positive constant  $C = C(B_r)$  such that

$$\mu_s \left( \int_{B_r} \frac{u^{2^*(s)}}{|x|^s} dx \right)^{2/2^*(s)} \leq \int_{B_r} |\nabla u|^2 dx + C \int_{B_r} u^2 dx. \quad (12)$$

By the transformation  $y' = x'$ ,  $y_N = x_N - \psi_0(x')$  and the inequality (12), it follows that

$$\begin{aligned} & \mu_s \left( \int_{\Omega \cap V} \frac{|u|^{2^*(s)}}{(|x'|^2 + |x_N - \psi_0|^2)^{s/2}} dx \right)^{2/2^*(s)} \\ &= \mu_s \left( \frac{1}{2} \int_{B_r^+} \frac{|\hat{u}|^{2^*(s)}}{|y|^s} dy \right)^{2/2^*(s)} \\ &\leq \left( \frac{1}{2} \right)^{2/2^*(s)} \int_{B_r^+} (|\nabla_y \hat{u}|^2 + C\hat{u}^2) dy \\ &\leq 2^{\frac{2-s}{N-s}} (1 + (N-1)\delta + \delta^2) \int_{\Omega \cap V} |\nabla_x u|^2 + C\hat{u}^2 dx \end{aligned}$$

where  $\hat{u}(y) = u(y', y_N + \psi_0)$ . On the other hand, if  $|x|$  sufficiently small

$$(|x'|^2 + |x_N - \psi_0|^2)^{s/2} = (|x|^2 - 2\psi_0 x_N + \psi_0^2)^{s/2} \leq (1 + C_0|x|)|x|^s.$$

Now, we may assume that  $\text{diam}V < C_1\delta$  for some  $C_1$ . Consequently taking  $\varepsilon$  such that

$$1 + \varepsilon = \frac{1 + (N-2)\delta + \delta^2}{1 + C_0C_1\delta}$$

and we obtain

$$\left( \frac{1}{2} \right)^{\frac{2-s}{N-s}} \mu_s \left( \int_{\Omega \cap V} \frac{u^{2^*(s)}}{|x|^s} dx \right)^{2/2^*(s)} \leq (1 + \varepsilon) \int_{\Omega \cap V} |\nabla u|^2 dx + C \int_{\Omega \cap V} u^2 dx.$$

In  $\overline{\Omega \setminus V}$ , taking into account that  $|x|^{-s}$  has not a singularity and we have

$$\left(\frac{1}{2}\right)^{\frac{2-s}{N-s}} \mu_s \left( \int_{\Omega \setminus V} \frac{u^{2^*(s)}}{|x|^s} dx \right)^{2/2^*(s)} \leq (1 + \varepsilon) \int_{\Omega \setminus V} |\nabla u|^2 dx + C \int_{\Omega \cap V} u^2 dx.$$

The detail of calculations is in [13]. Hence we obtain (11).  $\square$

*Proof of Lemma 2.2.* If there exist  $\tilde{\lambda}$  such that (9) holds, then by part (i) and part (ii) of Lemma 2.1 we can prove part (i).

Assume that for all  $\lambda > 0$ , the equality (9) does not hold. For any  $\varepsilon > 0$  and  $\lambda > 0$ , there exist  $u_{\lambda, \varepsilon}$  such that

$$\mu_{s, \lambda}^N(\Omega) \geq \int_{\Omega} |\nabla u_{\lambda, \varepsilon}|^2 dx + \lambda \int_{\Omega} u_{\lambda, \varepsilon}^2 dx - \varepsilon$$

We choose  $\lambda = \lambda(\varepsilon)$  such that  $\lambda \rightarrow \infty$  as  $\varepsilon \rightarrow 0$  and  $\lambda \geq C$  where  $C$  is given in Proposition 2.3. From the above inequality and (11) we have

$$0 \leq \left(\frac{1}{2}\right)^{\frac{2-s}{N-s}} \mu_s - \mu_{s, \lambda}^N(\Omega) \leq \varepsilon \int_{\Omega} |\nabla u_{\lambda, \varepsilon}|^2 dx + \varepsilon \leq \varepsilon(1 + \mu_s).$$

Hence tending  $\varepsilon$  to 0 and we obtain the equality (10).  $\square$

By the next lemma we can see the relation between the value of  $\mu_{s, \lambda}^N(\Omega)$  and the existence of the minimizer of  $\mu_{s, \lambda}^N(\Omega)$ .

**Lemma 2.4.** (i) If  $\mu_{s, \lambda}^N(\Omega) < \mu_s$  then  $\mu_{s, \lambda}^N(\Omega)$  is attained.

(ii) If there exist a positive constant  $\tilde{\lambda}$  such that  $\mu_{s, \tilde{\lambda}}^N(\Omega) = \mu_s$  then  $\mu_{s, \lambda}^N(\Omega)$  is not attained for all  $\lambda > \tilde{\lambda}$ .

*Proof.* (i) proved by the proof of Proposition 2.1 in [5].

We prove (ii). Let  $\lambda > \tilde{\lambda}$  and  $u_{\lambda}$  be a minimizer of  $\mu_{s, \lambda}^N(\Omega)$ . Then we have

$$\mu_s = \mu_{s, \tilde{\lambda}}^N(\Omega) \leq \int_{\Omega} (|\nabla u_{\lambda}|^2 + \tilde{\lambda} u_{\lambda}^2) dx < \int_{\Omega} (|\nabla u_{\lambda}|^2 + \lambda u_{\lambda}^2) dx = \mu_{s, \lambda}^N(\Omega) \leq \mu_s.$$

This is a contradiction.  $\square$



### 3. Asymptotic behavior I

In this section and the next section we assume that the least-energy solution of (1) exists.

We investigate the asymptotic behavior of the least-energy solution of (1) as  $\lambda \rightarrow \infty$ . In order to prove Theorem 3.1, we apply the strategy in [19]-[22] to the equation (1). We assume  $v_\lambda$  is a least-energy solution of (1) and define  $\alpha_\lambda$  and  $\beta_\lambda$  as

$$\alpha_\lambda = \|v_\lambda\|_{L^\infty(\Omega)} = v_\lambda(x_\lambda), \quad \beta_\lambda = \alpha_\lambda^{-\frac{2}{N-2}}.$$

**Theorem 3.1.** *We obtain the following results;*

- (i) For all  $x \in \Omega$ ,  $v_\lambda(x) \rightarrow 0$ ,
- (ii)  $\alpha_\lambda^{\frac{4}{N-2}}/\lambda = (\lambda\beta^2)^{-1} \rightarrow \infty$ ,
- (iii)  $|x_\lambda| = o(\beta_\lambda)$

as  $\lambda \rightarrow \infty$ . For any  $\varepsilon > 0$  and  $\delta > 0$  there exists a positive constant  $\lambda_0$  such that for all  $\lambda > \lambda_0$

- (iv)  $\left| \frac{v_\lambda(x)}{\alpha_\lambda} - U\left(\frac{\Psi_\lambda(x)}{\beta_\lambda}\right) \right| < \varepsilon$  in  $\Omega \cap B_{\beta_\lambda\delta}$ ,
- (v)  $v_\lambda \leq 2\varepsilon\lambda^{\frac{N-2}{(4-2s)}} \exp(-\gamma_0\xi(x)\lambda^{\frac{1}{2}})$  in  $\Omega \setminus B_\delta$ ,

where  $U$  is defined in (4),  $\xi(x) = \min\{\eta_0, \text{dist}(x, \partial\Omega \cap B_\delta)\}$ ,  $\eta_0 = \eta_0(\Omega)$  and  $\gamma_0 = \gamma_0(\Omega, \varepsilon)$  are positive constants.

**Lemma 3.2.** *There exist a positive constant  $C$  which is independent of  $\lambda$  such that*

$$\frac{\alpha_\lambda^{\frac{4}{N-2}}}{\lambda} \geq C.$$

*Proof.* For simplicity, we write  $v = v_\lambda$  and  $\alpha = \alpha_\lambda$  for each.  $C_0, C_1, C_2, C_3$  are positive constants which depends only on domain  $\Omega$ . We have

$$\int_{\Omega} \nabla v \nabla \phi dx + \lambda \int_{\Omega} v \phi dx \leq \alpha^{2^*(s)-2} \int_{\Omega} \frac{v\phi}{|x|^s} dx \quad (13)$$

for all  $\phi \in H^1(\Omega)$  satisfying  $\phi \geq 0$ . For  $\beta \geq 1$ , we define a function  $H \in C^1([0, \infty))$  by setting  $H(t) = t^\beta$  and  $G(t) := \int_0^t |H'(s)|^2 ds = \frac{\beta^2}{2\beta-1} t^{2\beta-1}$ . We easily find that

$$vG'(v) \geq G(v). \quad (14)$$

Replacing  $\phi$  in (13) by  $G(v)$  we have

$$\int_{\Omega} \nabla v \nabla G(v) dx + \lambda \int_{\Omega} v G(v) dx \leq \alpha^{2^*(s)-2} \int_{\Omega} \frac{v G(v)}{|x|^s} dx.$$

The chain rule, the definition of  $G$  and (14) yield

$$\int_{\Omega} |\nabla H(v)|^2 dx + \lambda \frac{\beta^2}{2\beta-1} \int_{\Omega} H(v)^2 dx \leq \alpha^{2^*(s)-2} \int_{\Omega} \frac{|v H'(v)|^2}{|x|^s} dx \quad (15)$$

For  $\lambda \frac{\beta^2}{2\beta-1} \geq 1$ , by the Hardy-Sobolev inequality it follows that

$$\mu_s^N(\Omega) \left( \int_{\Omega} \frac{H(v)^{2^*(s)}}{|x|^s} dx \right)^{\frac{2}{2^*(s)}} \leq \int_{\Omega} |\nabla H(v)|^2 dx + \lambda \frac{\beta^2}{2\beta-1} \int_{\Omega} H(v)^2 dx \quad (16)$$

where  $\mu_s^N(\Omega) := \inf \left\{ \int_{\Omega} (|\nabla u|^2 + u^2) dx \mid u \in H^1(\Omega), \int_{\Omega} |u|^{2^*(s)} / |x|^s dx = 1 \right\}$ . Since

$$H(v) = v^\beta, \quad v H'(v) = \beta v^\beta \quad (17)$$

Combining (15), (16) and (17) we have

$$\|v\|_{L^{2^*(s)\beta}(\Omega, |x|^{-s} dx)}^2 \leq C_0^{\frac{1}{\beta}} \alpha^{(2^*(s)-2)\frac{1}{\beta}} \beta^{\frac{2}{\beta}} \|v\|_{L^{2\beta}(\Omega, |x|^{-s} dx)}^2$$

For  $m = 0, 1, 2, \dots$  we define  $\beta_{m+1} = (2^*(s)/2)^m$ , then we have

$$\begin{aligned} & \|v\|_{L^{2^*(s)\beta_{m+1}}(\Omega, |x|^{-s} dx)}^2 \\ & \leq C_0^{\frac{1}{\beta_{m+1}}} \alpha^{(2^*(s)-2)\frac{1}{\beta_{m+1}}} \beta_{m+1}^{\frac{2}{\beta_{m+1}}} \|v\|_{L^{2\beta_{m+1}}(\Omega, |x|^{-s} dx)} \\ & = \prod_{l=0}^m C_0^{\frac{1}{2^{2^*(s)/2}l}} \alpha^{(2^*(s)-2)\frac{1}{(2^*(s)/2)l}} \left( \frac{2^*(s)}{2} \right)^{l \frac{1}{(2^*(s)/2)l}} \|v\|_{L^2(\Omega, |x|^{-s} dx)}. \end{aligned} \quad (18)$$

Note that

$$\begin{aligned} \sum_{l=0}^{\infty} \left( \frac{2^*(s)}{2} \right)^{-l} &= \lim_{m \rightarrow \infty} \frac{1 - \left( \frac{2^*(s)}{2} \right)^{-m-1}}{1 - \left( \frac{2^*(s)}{2} \right)^{-1}} = \frac{2^*(s)}{2^*(s) - 2}, \\ \sum_{l=0}^{\infty} l \left( \frac{2^*(s)}{2} \right)^{-l} &\leq \sum_{l=0}^{\infty} (l+1) \left( \frac{2^*(s)}{2} \right)^{-l} \leq \frac{2^*(s)}{(2^*(s) - 2)^2}. \end{aligned}$$

Tending  $m \rightarrow \infty$  in (18), and thus

$$\|v\|_\infty^2 \leq C_1 \alpha^{(2^*(s)-2)\frac{2^*(s)}{2^*(s)-2}} \|v\|_{L^2(\Omega, |x|^{-s} dx)}^2 = C_1 \alpha^{2^*(s)} \|v\|_{L^2(\Omega, |x|^{-s} dx)}^2.$$

Using the Hölder inequality we have

$$\begin{aligned} \|v\|_{L^2(\Omega, |x|^{-s} dx)}^2 &= \int_\Omega \frac{v^2}{|x|^s} dx \leq \left( \int_\Omega \frac{v^2}{|x|^2} \right)^{s/2} \left( \int_\Omega v^2 dx \right)^{1-s/2} \\ &< C_2 \left( \int_\Omega v^2 dx \right)^{1-s/2}. \end{aligned}$$

Consequently

$$\begin{aligned} \frac{1}{C_1 C_2} &\leq \alpha^{2^*(s)-2} \left( \int_\Omega v^2 dx \right)^{1-s/2} \\ &= \left( \alpha^{\frac{4}{N-2}} \int_\Omega v^2 dx \right)^{1-s/2} \\ &\leq C_3 \left( \frac{\alpha^{\frac{4}{N-2}}}{\lambda} \right)^{1-s/2}. \end{aligned}$$

Therefore we obtain

$$\frac{\alpha^{\frac{4}{N-2}}}{\lambda} > C.$$

□

**Lemma 3.3.**

$$|x_\lambda| = O(\beta_\lambda)$$

*Proof.* Step 1. First of all, we show that  $d(x_\lambda, \partial\Omega) = O(\beta_\lambda)$ . We assume that

$$\lim_{\lambda \rightarrow \infty} \frac{d(x_\lambda, \partial\Omega)}{\beta_\lambda} = \infty \quad (19)$$

and derive a contradiction. Assume that  $\lambda_k$  is positive increasing sequence such that  $\lambda_k \rightarrow \infty$  as  $k \rightarrow \infty$ . By the assumption of (19) we may take a positive constant  $R$  such that

$$|B_R(0)| > \frac{1}{2} S_N(\Omega)^{-1} \mu_s^{\frac{N-s}{2-s}} \quad \text{and} \quad x_{\lambda_k} + \beta_{\lambda_k} z \in \Omega \quad \text{for all} \quad z \in B_{3R}(0) \quad (20)$$

where  $|B_R(0)|$  is  $N$ -dimensional volume of  $B_R(0)$  and

$$S^N(\Omega) = \inf \left\{ \int_{\Omega} (|\nabla u|^2 + u^2) dx \mid \int_{\Omega} |u|^{\frac{2N}{N-2}} dx = 1 \right\}$$

is the best constant of the critical Sobolev embedding. We set

$$w_k(z) := \frac{v_{\lambda_k}(x_{\lambda_k} + \beta_{\lambda_k} z)}{\alpha_{\lambda_k}} \quad z \in B_{3R}(0).$$

Since  $v_{\lambda_k} \in C_{loc}^2(\bar{\Omega} \setminus \{0\})$   $\tilde{v}_k$  satisfies

$$-\Delta w_k + \lambda \beta^2 w_k = \frac{w_k^{2^*(s)-1}}{\left| \frac{x_{\lambda_k}}{\beta_{\lambda_k}} + z \right|^s} \quad \text{in } B_{3R}(0).$$

Note that from (19) and Lemma 3.2

$$\lambda_k \beta_{\lambda_k} \rightarrow C, \quad \left| \frac{x_{\lambda_k}}{\beta_{\lambda_k}} + z \right|^{-s} = o(1) \quad \text{as } k \rightarrow \infty \quad \text{for } z \in B_{3R}(0). \quad (21)$$

By using the elliptic regularity theory there exists  $w$  such that

$$w \in C^2(B_R(0)), \quad w_k \rightarrow w \quad \text{in } C^2(B_R(0))$$

and

$$-\Delta w + Cw = 0 \quad \text{in } B_R(0).$$

In addition  $0 \leq w(z) \leq 1$  in  $B_R(0)$  and  $w(0) = 1$  since  $\tilde{v}_k(0) = 1$ . By the strong maximum principle  $w \equiv 1$ . But

$$\begin{aligned} |B_R(0)| &= \int_{B_R(0)} w^{\frac{2N}{N-2}} dz = \lim_{k \rightarrow \infty} \int_{B_R(0)} w_k^{\frac{2N}{N-2}} dz = \lim_{k \rightarrow \infty} \int_{B_{\beta_{\lambda_k} R}(x_{\lambda_k})} v_{\lambda_k}^{\frac{2N}{N-2}} dx \\ &\leq \lim_{k \rightarrow \infty} \int_{\Omega} v_{\lambda_k}^{\frac{2N}{N-2}} dx \leq \lim_{k \rightarrow \infty} S_N(\Omega)^{-1} \int_{\Omega} (|\nabla v_{\lambda_k}^2 + v_{\lambda_k}^2) dx \\ &= \frac{1}{2} S_N(\Omega)^{-1} \mu_s^{\frac{N-s}{2-s}} \end{aligned}$$

which contradicts the choice of  $R$  in (20).

Step 2. To end of the proof of this lemma we show that

$$x_{\lambda} \not\rightarrow x \quad \text{for all } x \in \partial\Omega \setminus \{0\}.$$

We assume that there exists a point  $x_0 \in \partial\Omega \setminus \{0\}$  such that  $|x_\lambda - x_0| = O(\beta_\lambda)$  and derive a contradiction.

By translation and rotation of the coordinate system we may consider the equation

$$\begin{cases} -\Delta v_\lambda + \lambda v_\lambda = \frac{v_\lambda^{2^*(s)-1}}{|a_0+x|s} & \text{in } \Omega \\ \frac{\partial v_\lambda}{\partial \nu} = 0 & \text{on } \partial\Omega. \end{cases} \quad (22)$$

and  $x_\lambda \rightarrow 0$ , where  $a_0 \in \partial\Omega \setminus \{0\}$ . Set  $\lambda_k \rightarrow \infty$  and  $x_{\lambda_k} \rightarrow 0$  as  $k \rightarrow \infty$ . For  $\delta$  small sufficiently put  $\hat{v}_{\lambda_k}(y) = v_{\lambda_k}(\Phi(y))$  for  $y \in \overline{B_{2\delta}^+}$  and

$$\tilde{v}_{\lambda_k} = \begin{cases} \hat{v}_{\lambda_k}(y) & y \in \overline{B_{2\delta}^+} \\ \hat{v}_{\lambda_k}(y', -y_N) & (y', -y_N) \in \overline{B_{2\delta}^+}. \end{cases}$$

We define a function  $w_k$  ( $k = 1, 2, \dots$ ) by

$$w_k(z) = \frac{\tilde{v}_{\lambda_k}(Q_{\lambda_k} + \beta_{\lambda_k}z)}{\alpha_\lambda} \quad z \in B_{\delta/\beta_{\lambda_k}}$$

where  $Q_{\lambda_k} = \Psi(x_{\lambda_k}) = (q'_{\lambda_k}\beta_{\lambda_k}, q_{\lambda_k}^N\beta_{\lambda_k})$ ,  $Q_{\lambda_k}/\beta_{\lambda_k} \rightarrow Q_\infty = (q'_\infty, q_\infty^N)$  as  $k \rightarrow \infty$ . By Step 1,  $|Q_\infty| < \infty$ .

We take a positive constant  $R$  such that

$$|B_R(0)| > S_N(\Omega)^{-1} \mu^{\frac{N-s}{2-s}}$$

in the same way as Step 1. Set a function  $\xi_k$  as

$$\xi_k(z) = \begin{cases} \Phi(Q_{\lambda_k} + \beta_{\lambda_k}z) & (z_N \geq -q_{\lambda_k}^N) \\ \Phi((q'_{\lambda_k} + z')\beta_{\lambda_k}, -(q_{\lambda_k}^N + z_N)\beta_{\lambda_k}) & (z_N < -q_{\lambda_k}^N). \end{cases}$$

Then  $w_k$  satisfies

$$-\sum_{i,j=1}^N a_{ij}^k(z) \frac{\partial^2 w_k}{\partial z_i \partial z_j} + \beta_{\lambda_k} \sum_{j=1}^N b_j^k(z) \frac{\partial w_k}{\partial z_j} + \lambda_k \beta_{\lambda_k}^2 w_k = \frac{w_k^{2^*(s)-1}}{\left| \frac{a_0 + \xi_k}{\beta_{\lambda_k}} \right|^s}$$

in  $B_R(0) \setminus \{z_N = -q_{\lambda_k}^N\}$ , where  $a_{ij}^k$ ,  $b_j^k$  is defined as follows (there definitions is same as those in Step 2 in the section 4 in [22]):

$$a_{ij}(y) = \sum_{k=1}^N \frac{\partial \Psi_i}{\partial x_k}(\Phi(y)) \frac{\partial \Psi_j}{\partial x_k}(\Phi(y)) \quad 1 \leq i, j \leq N \quad (23)$$

$$b_j(y) = (\Delta \Psi_j)(\Phi(y)) \quad 1 \leq j \leq N. \quad (24)$$

Then define

$$a_{ij}^k(z) = \begin{cases} a_{ij}(Q_{\lambda_k} + \beta_{\lambda_k} z) & z_N \geq -q_{\lambda_k}^N, \\ (-1)^{\delta_{iN} + \delta_{jN}} a_{ij}((q'_{\lambda_k} + z')\beta_{\lambda_k}, -(q_{\lambda_k}^N + z_N)\beta_{\lambda_k}) & z_N < q_{\lambda_k}^N, \end{cases}$$

$$b_j^k(z) = \begin{cases} b_j(Q_{\lambda_k} + \beta_{\lambda_k} z) & z_N \geq -q_{\lambda_k}^N, \\ (-1)^{\delta_{jN}} b_j((q'_{\lambda_k} + z')\beta_{\lambda_k}, -(q_{\lambda_k}^N + z_N)\beta_{\lambda_k}) & z_N < -q_{\lambda_k}^N. \end{cases}$$

By applying the elliptic regularity theory in [22] and arguing in the same manner as in Step 1 we have

$$w \in C^2(B_R(0)), \quad w_k \rightarrow w \quad \text{in} \quad C^2(B_R(0))$$

and  $w \equiv 1$ . It follows that

$$|B_R(0)| = \int_{B_R} w^{\frac{2N}{N-2}} dz \leq \lim_{k \rightarrow \infty} 2 \int_{\Omega} v_{\lambda_k}^{\frac{2N}{N-2}} dz \leq S_N(\Omega)^{-1} \mu_s^{\frac{N-s}{2-s}}.$$

This contradicts the choice of  $R$ . □

*Proof of Theorem 3.1 (ii), (iii), (iv).* We can see  $x_\lambda \rightarrow 0$  from Lemma 3.3. Put  $k \rightarrow \infty$  and define  $\lambda_k, x_{\lambda_k}, \hat{v}_{\lambda_k}, \tilde{v}_{\lambda_k}, Q_{\lambda_k}, w_k$  and  $\xi_k$  respectively as those in Step 2 of the proof of Lemma 3.3.  $w_k$  satisfies

$$-\sum_{i,j=1}^N a_{ij}^k(z) \frac{\partial^2 w_k}{\partial z_i \partial z_j} + \beta_{\lambda_k} \sum_{j=1}^N b_j^k(z) \frac{\partial w_k}{\partial z_j} + \lambda_k \beta_{\lambda_k}^2 w_k = \frac{w_k^{2^*(s)-1}}{\left| \frac{\xi_k}{\beta_{\lambda_k}} \right|^s}$$

in  $B_{2\delta/\beta_{\lambda_k}}(0) \setminus \{z_N = -q_{\lambda_k}^N\}$ . By the definition of  $\xi_k$  we have  $|\xi_k/\beta_{\lambda_k}| \rightarrow |Q_\infty + z|$ .

For any  $L > 0$  and some  $r > N/2$  by the Hölder inequality we have

$$\int_{B_L(-Q_\infty)} \left( \frac{w_k^{2^*(s)-1}}{\left| \frac{\xi_k}{\beta_{\lambda_k}} \right|^s} \right)^r dz < C(L) < \infty. \quad (25)$$

By applying the elliptic regularity theory in [22] there exists a function  $w$  such that

$$w \in C^2(B_L(-Q_\infty) \setminus \{-Q_\infty\}), \quad w_k \rightarrow w \quad \text{in} \quad C^{0,\alpha}(B_L(-Q_\infty)) \cap H^1(B_L(-Q_\infty)).$$

Moreover,  $w$  satisfies  $w(0) = 1$  and  $w \in D^{1,2}(\mathbb{R}^N)$ . In fact

$$\begin{aligned}
\int_{\mathbb{R}^N} |\nabla w|^2 dz &\leq \int_{\mathbb{R}^N} (|\nabla w|^2 + Cw^2) dz \\
&= \lim_{L \rightarrow \infty} \int_{B_L} (|\nabla w|^2 + Cw^2) dz \\
&\leq \lim_{L \rightarrow \infty} \lim_{k \rightarrow \infty} 2 \int_{\Omega} (|\nabla v_k|^2 + \lambda_k v_k^2) dx \\
&\leq \mu_s^{\frac{N-s}{2-s}}
\end{aligned}$$

where  $C$  is defined in (21). Thus

$$w \in C_{loc}^2(\mathbb{R}^N \setminus \{-Q_\infty\}), \quad w_k \rightarrow w \quad \text{in} \quad C_{loc}^{0,\alpha}(\mathbb{R}^N) \cap H_{loc}^1(\mathbb{R}^N).$$

If  $C \neq 0$   $w$  is a weak solution of

$$-\Delta w + Cw = \frac{w^{2^*(s)-1}}{|(Q_\infty + z)|^s} \quad \text{in} \quad \mathbb{R}^N.$$

Define the function  $f : \mathbb{R}^N \setminus \{-Q_\infty\} \times \mathbb{R} \rightarrow \mathbb{R}$  by

$$f(x, u) = \frac{|u|^{2^*(s)-2}u}{|Q_\infty + z|^s} - Cu.$$

Then we can see  $w$  and  $f$  satisfy the all conditions of Claim 5.3 in [8] and hence from the claim we can  $C = 0$ . Furthermore we have

$$\begin{aligned}
\int_{\mathbb{R}^N} \frac{w^{2^*(s)}}{|(Q_\infty + z)|^s} dz &\leq \lim_{k \rightarrow \infty} 2 \int_{\Omega} \frac{v_{\lambda_k}^{2^*(s)}}{|x|^s} dx \\
&= \lim_{k \rightarrow \infty} \mu_{s, \lambda_k}^N(\Omega)^{\frac{N-s}{2-s}} \\
&= \mu_s^{\frac{N-s}{2-s}}.
\end{aligned}$$

Hence  $w$  is a minimizer of  $\mu_s$ . Since  $0 \leq w \leq 1$  and  $w(0) = 1$ , we obtain  $w = U$  and  $Q_\infty = 0$ . Therefore part (ii) and (iii) is proved.

For  $z \in B_{\delta/\beta_{\lambda_k}}$  we set

$$\tilde{w}_k(z) = \frac{\tilde{v}_{\lambda_k}(\beta_{\lambda_k} z)}{\alpha_{\lambda_k}}. \tag{26}$$

Then since  $Q_{\lambda_k}/\beta_{\lambda_k} \rightarrow 0$  as  $k \rightarrow \infty$  we have

$$\tilde{w}_k \rightarrow U \quad \text{in} \quad C_{loc}^{0,\alpha}(\mathbb{R}^N) \cap H_{loc}^1(\mathbb{R}^N)$$

as  $k \rightarrow \infty$ . Hence part (iv) is obtained.  $\square$

**Lemma 3.4.** *We assume that  $u \in H^1(\Omega)$  satisfy that  $u \geq 0$  and*

$$\begin{cases} -\Delta u \leq \frac{u^{2^*(s)-1}}{|x|^s} & \text{in } \Omega \\ \frac{\partial u}{\partial \nu} = 0 & \text{on } \partial\Omega. \end{cases} \quad (27)$$

*Then for any  $r > 0$  there exist positive constants  $\mu = \mu(\Omega)$  and  $C = C(\Omega, r)$  such that for any  $Q \in \mathbb{R}^N$  we have*

$$\sup_{x \in \Omega \cap B_r(Q)} v_\lambda(x) \leq C \left( \int_{\Omega \cap B_{2r}(Q)} \frac{u^{2^*(s)}}{|x|^s} dx \right)^{\frac{1}{2^*(s)}} \quad (28)$$

*provided that*

$$\int_{\Omega \cap B_{4r}(Q)} \frac{u^{2^*(s)}}{|x|^s} dx \leq \mu.$$

*Proof.* We prove Lemma 3.4 in the same way as the strategy of the proof of Lemma 2.13 in [20].  $\square$

*Proof of Theorem 3.1 (i).* From Lemma 2.1, if  $u_\lambda$  is a minimizer for  $\mu_{s,\lambda}^N(\Omega)$  then  $\|u_\lambda\|_{L^2(\Omega)} = O(1/\lambda)$ . Thus we have  $u_\lambda(x) \rightarrow 0$  a.e. in  $\Omega$ . Since  $v_\lambda = \mu_{s,\lambda}^N(\Omega)^{(N-2)/(4-2s)} u_\lambda$  we have  $v_\lambda(x) \rightarrow 0$  a.e. in  $\Omega$ .

For all  $x \in \Omega$ , there exists a positive constant  $\kappa$  such that  $0 \notin \overline{\Omega \cap B_{4\kappa}(x)}$ . We have

$$\lim_{\lambda \rightarrow \infty} \int_{\Omega \cap B_{4\kappa}(x)} \frac{v_\lambda^{2^*(s)}}{|x|^s} dx = 0.$$

By Lemma 3.4 we obtain

$$v_\lambda(x) \leq \sup_{x \in \Omega \cap B_\kappa(x)} u(x) \leq C \int_{\Omega \cap B_{2\kappa}(x)} \frac{v_\lambda^{2^*(s)}}{|x|^s} dx \leq C \int_{\Omega \cap B_{4\kappa}(x)} \frac{v_\lambda^{2^*(s)}}{|x|^s} dx \rightarrow 0$$

as  $\lambda \rightarrow \infty$ .  $\square$



*Proof of Theorem 3.1 (iv).* For all  $\varepsilon > 0$  and  $\delta > 0$  by part (i) there exists  $\lambda_0 > 0$  such that  $v_\lambda(x) < \varepsilon$  in  $\Omega \setminus B_\delta$  for all  $\lambda > \lambda_0$ . We set  $w_\lambda = \lambda^{-(N-2)/(4-2s)}v_\lambda$ , then  $w_\lambda$  satisfies

$$\begin{cases} -\frac{1}{\lambda}\Delta w_\lambda + w_\lambda = \frac{w_\lambda^{2^*(s)-1}}{|x|^s} & \text{in } \Omega \\ \frac{\partial w_\lambda}{\partial \nu} = 0 & \text{on } \partial\Omega. \end{cases}$$

For  $w_\lambda$ , we use the strategy in the proof of Theorem 2.3 (iii) in [22]. Hence Theorem 3.1 (v) is proved.  $\square$

#### 4. Asymptotic behavior II

In this section, we consider the asymptotic behavior of  $\mu_{s,\lambda}^N(\Omega)$ . Suppose  $v_\lambda$  is a least-energy solution of (1). Define for  $f \in H^1(\Omega)$

$$Q_\lambda(f) = \frac{\int_\Omega (|\nabla f|^2 + \lambda f^2) dx}{\left( \int_\Omega \frac{|f|^{2^*(s)}}{|x|^s} dx \right)^{2/2^*(s)}}.$$

**Theorem 4.1.** *Assume that  $N \geq 5$ . There exist positive constants  $C_1$  and  $C_2$  such that as  $\lambda \rightarrow \infty$*

$$\mu_{s,\lambda}^N(\Omega) = Q_\lambda(v_\lambda) = \left(\frac{1}{2}\right)^{\frac{2-s}{N-s}} \mu_s - C_1 H(0)\varepsilon + C_2 \varepsilon^2 \lambda + o(\varepsilon^2 \lambda).$$

where  $\varepsilon = O(1/\lambda)$  and  $H(0)$  is the mean curvature at 0.

*Proof.* The approaches to prove Theorem 4.1 is very close to those in [23]. Therefore we omit the proof of Lemma 4.2 and Lemma 4.6.

Suppose that  $\mathcal{N}_0$  is a neighborhood around 0 satisfying  $\Omega \cap \mathcal{N}_0 = \Phi(B_{2\delta}^+)$ . For  $y \in B_{2\delta}^+$  put  $\hat{v}_\lambda$  and  $\tilde{v}_\lambda$  as in Step 2 of the proof of Lemma 3.3. By using (23) and (24) we define an elliptic operator  $L$  by

$$L = \sum_{i,j=1}^N \tilde{a}_{ij}(y) \frac{\partial^2}{\partial y_i \partial y_j} + \sum_{j=1}^N \tilde{b}_j(y) \frac{\partial}{\partial y_j},$$

where

$$\tilde{a}_{ij}(z) = \begin{cases} a_{ij}(z) & z_N \geq 0, \\ (-1)^{\delta_{iN} + \delta_{jN}} a_{ij}(z', -z_N) & z_N < 0, \end{cases}$$

$$\tilde{b}_j(z) = \begin{cases} b_j(z) & z_N \geq 0, \\ (-1)^{\delta_{jN}} b_j(z', -z_N) \beta_{\lambda_k} & z_N < 0. \end{cases}$$

Since  $v_\lambda$  is a least-energy solution of (1)  $\tilde{v}_\lambda$  satisfies

$$-L\tilde{v}_\lambda + \lambda\tilde{v}_\lambda = \frac{\tilde{v}_\lambda^{2^*(s)-1}}{|\Phi(y)|^s} \quad (29)$$

a.e. in  $B_{2\delta}$ . Set

$$\begin{aligned} \langle \nabla\phi, \nabla\psi \rangle_g &= \sum_{i,j=1}^N \int_{B_\delta(0)} a_{ij}(y) \left( \frac{\partial\phi}{\partial y_j}(y) \frac{\partial\psi}{\partial y_k}(y) \right) |J\Phi| dy, \\ \langle \phi, \psi \rangle_\lambda &= \langle \nabla\phi, \nabla\psi \rangle_g + \lambda \int_{B_\delta(0)} \phi\psi |J\Phi| dy, \\ \|\nabla\phi\|_g^2 &= \langle \nabla\phi, \nabla\phi \rangle_g, \quad \|\phi\|_\lambda^2 = \langle \phi, \phi \rangle_\lambda. \end{aligned}$$

From Theorem 3.1, we have

$$\lim_{\lambda \rightarrow \infty} \|\nabla\tilde{v}_\lambda\|_g^2 = \mu_s^{\frac{N-s}{2-s}}, \quad \lim_{\lambda \rightarrow \infty} \lambda \int_{B_\delta} \tilde{v}_\lambda^2 |J\Phi| dy = 0, \quad \lim_{\lambda \rightarrow \infty} \|\nabla\tilde{v}_\lambda - \nabla U_{\beta_\lambda}\|_g = 0.$$

Define the projection  $P : H^1(B_\delta) \rightarrow H_0^1(B_\delta)$  by  $u = Pv$  such that

$$Lu = Lv.$$

By the definition of  $L$  if  $v(y', y_N) = v(y', -y_N)$  then  $u(y', y_N) = u(y', -y_N)$ . We set

$$h_\lambda = v_\lambda - Pv_\lambda, \quad \phi_\varepsilon = U_\varepsilon - PU_\varepsilon$$

and we can see by part (v) of Theorem 3.1 and the maximum principle

$$0 < h_\lambda = O(\varepsilon^{-\gamma\sqrt{\lambda}}) \quad \text{in } \overline{B_\delta}.$$

We can see

$$\phi_\varepsilon = \varepsilon^{\frac{N-2}{2}} \left( \varepsilon^{2-s} + \frac{\delta^{2-s}}{(N-s)(N-2)} \right)^{-\frac{N-2}{2-s}}.$$

Let

$$M = \{cPU_\varepsilon | c \in \mathbb{R}_+, 0 < \varepsilon \leq 1\}, \quad \text{dist}(u, M) = \inf_{\phi \in M} \|u - \phi\|_\lambda,$$

and

$$\mathcal{E}(\varepsilon, \lambda) = \left\{ \phi \in H_0^1(\Omega) \mid \langle \phi, PU_\varepsilon \rangle_\lambda = \left\langle \phi, \frac{\partial}{\partial \varepsilon} PU_\varepsilon \right\rangle_\lambda = 0 \right\}.$$

We obtain the following lemma.

**Lemma 4.2.** *Suppose that  $N \geq 5$ . Then for  $\lambda$  sufficiently large  $\text{dist}(Pv_\lambda, M)$  is attained by  $c_\lambda PU_\varepsilon$ , where  $\varepsilon = \varepsilon(\lambda)$ . Moreover,*

$$\frac{\varepsilon}{\beta_\lambda} \rightarrow 1 \quad \text{and} \quad c_\lambda \rightarrow 1$$

as  $\lambda \rightarrow \infty$ .

By this lemma we may write

$$Pv_\lambda = c_\lambda PU_\varepsilon + \omega_\lambda$$

where  $\omega_\lambda \in \mathcal{E}(\varepsilon, \lambda)$  satisfying  $\|\omega_\lambda\|_\lambda = o(1)$ ,  $\|Pv_\lambda\|_\lambda^2 = c_\lambda^2 \|PU_\varepsilon\|_\lambda^2 + \|\omega_\lambda\|_\lambda^2$ . Thus

$$v_\lambda = c_\lambda PU_\varepsilon + \omega_\lambda + h_\lambda.$$

We investigate the detail of the estimates for  $\omega_\lambda$ .

**Lemma 4.3.** *We assume that  $N \geq 5$  and  $\varepsilon = \varepsilon(\lambda)$  is given in Lemma 4.2. Then there exists  $\sigma > 0$  and  $\lambda_0$  such that for all  $\omega \in \mathcal{E}(\varepsilon, \lambda)$  and  $\lambda > \lambda_0$  we have*

$$(2^*(s) - 1 + \sigma) \int_{B_\delta} \frac{U_\varepsilon^{2^*(s)-2} \omega^2}{|\Phi(y)|^s} |J\Phi| dy \leq \|\omega\|_\lambda^2.$$

*Proof.* Suppose the above lemma does not hold. Then there exist sequences  $\lambda_n \rightarrow \infty$ ,  $\{\omega_n\} \subset \mathcal{E}(\varepsilon_n, \lambda_n)$  such that

$$(2^*(s) - 1 + o(1)) \int_{B_\delta} \frac{U_\varepsilon^{2^*(s)-2} \omega_n^2}{|\Phi(y)|^s} |D\Phi| dy \geq \|\omega_n\|_{\lambda_n}^2$$

where  $\varepsilon_n = \varepsilon(\lambda_n)$ . We may assume that  $\|\omega_n\|_{\lambda_n} = 1$  without loss of generality. Define  $\psi_n(z) = \varepsilon_n^{(N-2)/2} \omega_n(\varepsilon_n z)$  for  $z \in B_\delta/\varepsilon_n$ . Then we have

$$1 \leq (2^*(s) - 1 + o(1)) \int_{B_\delta/\varepsilon_n} \frac{U^{2^*(s)-2} \psi_n^2}{\left| \frac{\Phi(\varepsilon_n z)}{\varepsilon_n} \right|^s} |D\Phi(\varepsilon_n z)| dz \quad (30)$$

On the other hand we have

$$\begin{aligned}
1 &= \|\omega_n\|_{\lambda_n}^2 \\
&\geq \sum_{i,j} \int_{B_\delta} a_{ij}(y) \left( \frac{\partial \omega_n}{\partial y_i}(y) \frac{\partial \omega_n}{\partial y_j}(y) \right) |D\Phi| dy + \lambda_n \int_{B_\delta} \omega_n^2 |D\Phi| dy \\
&\geq (1 + o(1)) \int_{B_{\delta/\varepsilon_n}} |\nabla \psi_n(z)|^2 dz
\end{aligned} \tag{31}$$

and

$$\begin{aligned}
1 &= \|\omega_n\|_{\lambda_n}^2 \\
&\geq C \left( \int_{B_\delta} \omega_n^{\frac{2N}{N-2}} |D\Phi| dy \right)^{\frac{N-2}{N}} \\
&= C(1 + o(1)) \left( \int_{B_{\delta/\varepsilon_n}} \psi_n^{\frac{2N}{N-2}} dz \right)^{\frac{N-2}{N}}.
\end{aligned}$$

Therefore after passing to a subsequence we have

$$\psi_n \rightarrow \psi_\infty \text{ weakly in } D_{loc}^{1,2}(\mathbb{R}^N), \text{ and } \psi_n \rightarrow \psi_\infty \text{ strongly in } L_{loc}^2(\mathbb{R}^N).$$

We can see that

$$\langle \nabla \psi_\infty, \nabla U \rangle_{L^2(\mathbb{R}^N)} = 0, \quad \left\langle \nabla \psi_\infty, \nabla \left( \frac{\partial}{\partial \lambda} \Big|_{\lambda=1} U_\lambda \right) \right\rangle_{L^2(\mathbb{R}^N)} = 0. \tag{32}$$

Moreover from (30) and (31) it follows that

$$\int_{\mathbb{R}^N} |\nabla \psi_\infty|^2 dz \leq 1 \leq (2^*(s) - 1) \int_{\mathbb{R}^N} \frac{U^{2^*(s)-2} \psi_\infty^2}{|z|^s} dz,$$

and hence

$$\frac{\int_{\mathbb{R}^N} |\nabla \psi_\infty|^2 dz}{\int_{\mathbb{R}^N} \frac{U^{2^*(s)-2} \psi_\infty^2}{|z|^s} dz} \leq 2^*(s) - 1. \tag{33}$$

However, (32) and (33) contradict the following lemma.

**Lemma 4.4** ([24]). *We consider the eigenvalue problem:*

$$\begin{cases} -\Delta\psi = \mu \frac{U^{2^*(s)-1}}{|z|^s} \psi & \text{in } \mathbb{R}^N, \\ \psi \in D^{1,2}(\mathbb{R}^N). \end{cases} \quad (34)$$

*Then the first two eigenvalues of (34) are  $\mu_1 = 1$ ,  $\mu_2 = 2^*(s) - 1$  and the corresponding eigenfunction  $\psi_1$  and  $\psi_2$  satisfy*

$$\psi_1 \in \text{span} \{U_\varepsilon\} \quad \text{and} \quad \psi_2 \in \text{span} \left\{ \frac{d}{d\varepsilon} \Big|_{\varepsilon=1} U_\varepsilon \right\}$$

*respectively.*

□

Recall that  $Lh_\lambda = 0$  and  $h_\lambda = O(\varepsilon^{-\gamma\sqrt{\lambda}})$ . Multiplying (29) by  $\omega_\lambda$  and integrating on  $B_\delta$  by parts, we have

$$\|\omega_\lambda\|_\lambda^2 + O(\varepsilon^{-\gamma\sqrt{\lambda}}) \|\omega_\lambda\|_\lambda = \int_{B_\delta} \frac{(c_\lambda P U_\varepsilon + h_\lambda + w_\lambda)^{2^*(s)-1} \omega_\lambda}{|\Phi(y)|^s} |D\Phi| dy.$$

For the right hand side we have

$$\begin{aligned} & \int_{B_\delta} \frac{(c_\lambda P U_\varepsilon + h_\lambda + w_\lambda)^{2^*(s)-1} \omega_\lambda}{|\Phi(y)|^s} |D\Phi| dy \\ &= c_\lambda^{2^*(s)-1} \int_{B_\delta} \frac{P U_\varepsilon^{2^*(s)-1} \omega_\lambda}{|\Phi(y)|^s} |D\Phi| dy \\ & \quad + (2^*(s) - 1) c_\lambda^{2^*(s)-2} \int_{B_\delta} \frac{P U_\varepsilon^{2^*(s)-2} \omega_\lambda^2}{|\Phi(y)|^s} |D\Phi| dy + O(\|\omega_\lambda\|_\lambda^\sigma + \varepsilon^{-\gamma\sqrt{\lambda}} \|\omega_\lambda\|_\lambda) \end{aligned}$$

where  $\sigma = \min \{3, 2^*(s)\}$ . Thus we have

$$\begin{aligned} & \|\omega_\lambda\|_\lambda^2 - (2^*(s) - 1) c_\lambda^{2^*(s)-2} \int_{B_\delta} \frac{P U_\varepsilon^{2^*(s)-2} \omega_\lambda^2}{|\Phi(y)|^s} |D\Phi| dy \\ &= c_\lambda^{2^*(s)-1} \int_{B_\delta} \frac{P U_\varepsilon^{2^*(s)-1} \omega_\lambda}{|\Phi(y)|^s} |D\Phi| dy + O(\|\omega_\lambda\|_\lambda^\sigma + \varepsilon^{-\gamma\sqrt{\lambda}} \|\omega_\lambda\|_\lambda). \end{aligned} \quad (35)$$

Since  $0 < P U_\varepsilon < U_\varepsilon$  and from Lemma 4.3 we have

$$\begin{aligned} \|\omega_\lambda\|_\lambda^2 &= \frac{2^*(s) - 1 + \sigma}{\sigma} (1 + o(1)) \int_{B_\delta} \frac{P U_\varepsilon^{2^*(s)-1} \omega_\lambda}{|\Phi(y)|^s} |D\Phi| dy \\ & \quad + O(\varepsilon^{-\gamma\sqrt{\lambda}} \|\omega_\lambda\|_\lambda). \end{aligned} \quad (36)$$

Set

$$\tilde{Q}_\lambda(f) := \frac{\|f\|_\lambda^2}{\left(\int_{B_\delta} \frac{f^{2^*(s)}}{|\Phi(y)|^s} |D\Phi| dy\right)^{2/2^*(s)}}.$$

**Lemma 4.5.**

$$\begin{aligned} Q_\lambda(v_\lambda) &= \frac{1}{2^{\frac{2-s}{N-s}}} \tilde{Q}_\lambda(cPU) \\ &\quad - (1+o(1)) \left(\frac{1}{2}\right)^{\frac{2-s}{N-s}} \mu_s^{-\frac{N-2}{2-s}} \int_{B_\delta} \frac{PU^{2^*(s)-1} \omega_\lambda}{|\Phi(y)|^s} |D\Phi| dy \\ &\quad + O(e^{-\sqrt{\lambda}} \|\omega_\lambda\|_\lambda). \end{aligned}$$

*Proof.* From Theorem 3.1 it follows

$$\begin{aligned} Q_\lambda(v_\lambda) &= \frac{\int_{\Omega \cap \mathcal{N}_0} |\nabla v_\lambda|^2 + \lambda v_\lambda^2 dx}{\left(\int_{\Omega \cap \mathcal{N}_0} \frac{v_\lambda^{2^*(s)}}{|x|^s} dx\right)^{2/2^*(s)}} + O(e^{-\gamma\sqrt{\lambda}}) \\ &= \frac{1}{2^{\frac{2-s}{N-s}}} \tilde{Q}_\lambda(\tilde{v}_\lambda) + O(\varepsilon^{-\gamma\sqrt{\lambda}} \|\omega_\lambda\|_\lambda) \end{aligned} \quad (37)$$

Since  $\tilde{v}_\lambda = c_\lambda PU_\varepsilon + \omega_\lambda + h_\lambda$  we have

$$\|\tilde{v}_\lambda\|_\lambda^2 = \|c_\lambda PU_\varepsilon\|_\lambda^2 + \|\omega_\lambda\|_\lambda^2 + O(e^{-\gamma\sqrt{\lambda}}).$$

On the other hand,

$$\begin{aligned} &\left(\int_{B_\delta} \frac{\tilde{v}_\lambda^{2^*(s)}}{|\Phi(y)|^s} |D\Phi| dy\right)^{2/2^*(s)} \\ &= \left(\int_{B_\delta} \frac{(cPU)^{2^*(s)}}{|\Phi(y)|^s} |D\Phi| dy\right)^{2/2^*(s)} + \frac{2}{2^*(s)} \left(\int_{B_\delta} \frac{(cPU)^{2^*(s)}}{|\Phi(y)|^s} |D\Phi| dy\right)^{2/2^*(s)-1} \\ &\quad \times \int_{B_\delta} \frac{2^*(s) (cPU)^{2^*(s)-1} \omega_\lambda + \frac{2^*(s)(2^*(s)-1)}{2} (cPU)^{2^*(s)-2} \omega_\lambda^2}{|\Phi(y)|^s} |D\Phi| dy \\ &\quad + O(\|\omega_\lambda\|_\lambda^\sigma + e^{-\sqrt{\lambda}}). \end{aligned}$$

Hence we obtain

$$\begin{aligned}
& Q_\lambda(v_\lambda) \\
&= \frac{1}{2^{\frac{2-s}{N-s}}} \tilde{Q}_\lambda(cPU_\varepsilon) \left[ 1 + (1 + o(1)) \right. \\
&\quad \times \left. \left\{ \frac{\|\omega_\lambda\|_\lambda^2}{\|cPU_\varepsilon\|_\lambda^2} - 2 \frac{\int_{B_\delta} \frac{PU_\varepsilon^{2^*(s)-1} \omega}{|\Phi(y)|^s} |D\Phi| dy}{c \int_{B_\delta} \frac{PU_\varepsilon^{2^*(s)}}{|\Phi(y)|^s} |D\Phi| dy} - (2^*(s) - 1) \frac{\int_{B_\delta} \frac{PU_\varepsilon^{2^*(s)-2} \omega_\lambda^2}{|\Phi(y)|^s} |D\Phi| dy}{c^2 \int_{B_\delta} \frac{PU_\varepsilon^{2^*(s)}}{|\Phi(y)|^s} |D\Phi| dy} \right\} \right] \\
&\quad + O(\|\omega_\lambda\|_\lambda^\sigma + \varepsilon^{-\gamma\sqrt{\lambda}} \|\omega_\lambda\|_\lambda).
\end{aligned}$$

Using (35), (36), (37),  $c_\lambda = 1 + o(1)$ , and

$$\lim_{\lambda \rightarrow \infty} \|PU_\varepsilon\|_\lambda^2 = \lim_{\lambda \rightarrow \infty} \int_{B_\delta} \frac{PU_\varepsilon^{2^*(s)}}{|\Phi(y)|^s} |D\Phi| dy = \mu_s^{\frac{N-s}{2-s}},$$

we obtain

$$\begin{aligned}
Q_\lambda(v_\lambda) &= \frac{1}{2^{\frac{2-s}{N-s}}} \tilde{Q}_\lambda(cPU) \\
&\quad - (1 + o(1)) \left( \frac{1}{2} \right)^{\frac{2-s}{N-s}} \mu_s^{-\frac{N-2}{2-s}} \int_{B_\delta} \frac{PU^{2^*(s)-1} \omega_\lambda}{|\Phi(y)|^s} |D\Phi| dy \\
&\quad + O(\|\omega_\lambda\|_\lambda^\sigma + \varepsilon^{-\gamma\sqrt{\lambda}} \|\omega_\lambda\|_\lambda).
\end{aligned}$$

□

**Lemma 4.6.**

$$\|\omega_\lambda\|_\lambda = O(e^{-\sqrt{\lambda}}) + \begin{cases} O(\varepsilon + \lambda\varepsilon^2) & (N \geq 7) \\ o(\lambda\varepsilon) & (N = 5, 6). \end{cases}$$

and

$$\int_{B_\delta} \frac{PU^{2^*(s)-1} \omega_\lambda}{|\Phi(y)|^s} |D\Phi| dy = \begin{cases} O(\varepsilon^2 + \lambda^2\varepsilon^4) & (N \geq 7) \\ o(\lambda\varepsilon^2) & (N = 5, 6), \end{cases}$$

Hence

$$Q_\lambda(v_\lambda) = \frac{1}{2^{\frac{2-s}{N-s}}} \tilde{Q}_\lambda(cPU) + O(e^{-\sqrt{\lambda}}) + \begin{cases} O(\varepsilon^2 + \lambda^2\varepsilon^4) & (N \geq 7) \\ o(\lambda\varepsilon^2) & (N = 5, 6). \end{cases}$$

To end the proof of Theorem 4.1 we calculate  $\tilde{Q}_\lambda(cPU)$ . Note that  $v_\lambda$  exists and

$$Q_\lambda(v_\lambda) < \left(\frac{1}{2}\right)^{\frac{2-s}{N-s}} \mu_s \quad (38)$$

when  $\Omega$  satisfies  $H(0) > 0$ . We replacing  $c_\lambda PU_\varepsilon$  by  $\phi$  in (6), (7) and (8). Consequently by using (38) we have

$$Q_\lambda(v_\lambda) = \left(\frac{1}{2}\right)^{\frac{2-s}{N-s}} \mu_s - C_1 H(0)\varepsilon + C_2 \lambda \varepsilon^2 + o(\lambda \varepsilon^2), \quad \varepsilon = O\left(\frac{1}{\lambda}\right).$$

□

## 5. Minimization problem

**Theorem 5.1.** *Assume that  $N \geq 5$  and  $\Omega$  satisfies  $H(0) \leq 0$ . Then there exist  $\lambda_* = \lambda_*(\Omega)$  such that*

- (i) *If  $0 < \lambda < \lambda_*$  then  $\mu_{s,\lambda}^N(\Omega)$  is attained.*
- (ii) *If  $\lambda > \lambda_*$  then  $\mu_{s,\lambda}^N(\Omega)$  is not attained.*

*Proof.* By Theorem 4.1 the minimizer of  $\mu_s^N(\Omega)$  does not exist for  $\lambda$  sufficiently large (if the minimizer exists,  $\mu_{s,\lambda}^N(\Omega) > \mu_s/2^{(2-s)/(N-s)}$  and this contradicts (ii) in Lemma 2.1). Thus there exists  $\lambda_* = \lambda_*(\Omega)$  such that part (i) of Lemma 2.2 holds true as  $\tilde{\lambda} = \lambda_*$ . Consequently from Lemma 2.4 we can prove (i) and (ii) immediately. □

The following theorem holds for all domains (we don't require the condition of the mean curvature at 0).

**Theorem 5.2.** *There exist  $\lambda_0 > 0$  such that if  $\lambda < \lambda_0$  then the minimizer of  $\mu_{s,\lambda}^N(\Omega)$  is unique.*

*Proof.* In order to prove this theorem we argue in the same way as [27]. Assume that  $v_\lambda$  is a least-energy solution of (1). Then

$$\int_{\Omega} \frac{v_\lambda^{2^*(s)}}{|x|^s} dx = \mu_{s,\lambda}^N(\Omega)^{\frac{N-s}{2-s}} \rightarrow 0 \quad \text{as } \lambda \rightarrow 0.$$

From Lemma 3.4 we have  $\|v_\lambda\|_{L^\infty(\Omega)} \rightarrow 0$  as  $\lambda \rightarrow 0$ .



Set  $\lambda_i \rightarrow 0$  as  $i \rightarrow \infty$ . Let  $u_i, v_i$  be the least-energy solutions of (1) when  $\lambda = \lambda_i$  such that  $\|u_i - v_i\|_{L^\infty(\Omega)} \neq 0$ . Define  $A_i = \|u_i - v_i\|_{L^\infty(\Omega)}$  and  $z_i = A_i^{-1}(u_i - v_i)$ . Then  $z_i$  satisfies  $0 \leq z_i \leq 1$  in  $\Omega$ ,  $\|z_i\|_{L^\infty(\Omega)} = 1$ , and

$$\begin{cases} -\Delta z_i + \lambda z_i = \frac{u_i^{2^*(s)-1} - v_i^{2^*(s)-1}}{(u_i - v_i)|x|^s} z_i & \text{in } \Omega, \\ \frac{\partial z_i}{\partial \nu} = 0 & \text{on } \partial\Omega. \end{cases}$$

Note that by the mean value theorem, we can see that

$$\frac{u_i^{2^*(s)-1} - v_i^{2^*(s)-1}}{(u_i - v_i)|x|^s} \rightarrow 0 \quad \text{as } i \rightarrow \infty.$$

Thus by the elliptic regularity theory there exists  $z_0 \in C^{0,\alpha}(\overline{\Omega}) \cap H^1(\Omega)$  such that  $z_i \rightarrow z_0$  in  $C^{0,\alpha}(\overline{\Omega}) \cap H^1(\Omega)$  and

$$\begin{cases} -\Delta z_0 = 0 & \text{in } \Omega, \\ \frac{\partial z_0}{\partial \nu} = 0 & \text{on } \partial\Omega. \end{cases}$$

Hence  $z_0 \equiv 1$  since  $\|z_i\|_{L^\infty(\Omega)} = 1$  for all  $i$ .

On the other hand, since  $u_i$  and  $v_i$  are solutions of (1) we have

$$\int_{\Omega} \frac{u_i^{2^*(s)-2} - v_i^{2^*(s)-2}}{|x|^s} u_i v_i dx = 0.$$

Since  $u_i > 0$  and  $v_i > 0$  we see  $u_i - v_i$  changes the sign for all  $i$ . This is a contradiction.  $\square$

## References

- [1] Adimurthi, G. Mancini, The Neumann problem for elliptic equations with critical nonlinearity. *Nonlinear analysis*, 9-25, Sc. Norm. Super. di Pisa Quaderni, Scuola Norm. Sup., Pisa, 1991.
- [2] Adimurthi, F. Pacella, S. L. Yadava, Interaction between the geometry of the boundary and positive solutions of a semilinear Neumann problem with critical nonlinearity. (English summary) *J. Funct. Anal.* 113 (1993), no. 2, 318-350.

- [3] Adimurthi; S. L. Yadava, Existence and nonexistence of positive radial solutions of Neumann problems with critical Sobolev exponents. Arch. Rational Mech. Anal. 115 (1991), no. 3, 275-296.
- [4] Adimurthi, S. L. Yadava, On a conjecture of Lin-Ni for a semilinear Neumann problem. Trans. Amer. Math. Soc. 336 (1993), no. 2, 631-637.
- [5] J. Chabrowski, On the Neumann problem with the Hardy-Sobolev potential. (English summary) Ann. Mat. Pura Appl. (4) 186 (2007), no. 4, 703-719.
- [6] H. Egnell, Positive solutions of semilinear equations in cones. Trans. Amer. Math. Soc. 330 (1992), no. 1, 191-201.
- [7] P. C. Fife, Semilinear elliptic boundary value problems with small parameters. Arch. Rational Mech. Anal. 52 (1973), 205-232.
- [8] R. Filippucci, P. Pucci, F. Robert, On a  $p$ -Laplace equation with multiple critical nonlinearities. (English, French summary) J. Math. Pures Appl. (9) 91 (2009), no. 2, 156-177.
- [9] N. Ghoussoub, X. S. Kang, Hardy-Sobolev critical elliptic equations with boundary singularities. Ann. Inst. H. Poincaré Anal. Non Linéaire 21 (2004), no. 6, 767-793.
- [10] N. Ghoussoub, F. Robert, Concentration estimates for Emden-Fowler equations with boundary singularities and critical growth. IMRP Int. Math. Res. Pap. 2006, 21867, 1-85.
- [11] N. Ghoussoub, F. Robert, Elliptic equations with critical growth and a large set of boundary singularities. Trans. Amer. Math. Soc. 361 (2009), no. 9, 4843-4870.
- [12] N. Ghoussoub, F. Robert, The effect of curvature on the best constant in the Hardy-Sobolev inequalities. Geom. Funct. Anal. 16 (2006), no. 6, 1201-1245.
- [13] M. Hashizume, Minimization problems on the Hardy-Sobolev inequality. (2015), Preprint.

- [14] C.-H. Hsia, C.-S. Lin, H. Wadade, Revisiting an idea of Brezis and Nirenberg. (English summary) *J. Funct. Anal.* 259 (2010), no. 7, 1816-1849.
- [15] H. Jaber, Optimal Hardy-Sobolev inequalities on compact Riemannian manifolds. (English summary) *J. Math. Anal. Appl.* 421 (2015), no. 2, 1869-1888.
- [16] E. H. Lieb, Sharp constants in the Hardy-Littlewood-Sobolev and related inequalities. *Ann. of Math.* (2) 118 (1983), no. 2, 349-374.
- [17] C.-S. Lin, H. Wadade, Minimizing problems for the Hardy-Sobolev type inequality with the singularity on the boundary. *Tohoku Math. J.* (2) 64 (2012), no. 1, 79-103.
- [18] V. Rădulescu, D. Smets, M. Willem, Hardy-Sobolev inequalities with remainder terms. (English summary) *Topol. Methods Nonlinear Anal.* 20 (2002), no. 1, 145-149.
- [19] C.-S. Lin, W.-M. Ni, I. Takagi, Large amplitude stationary solutions to a chemotaxis system. *J. Differential Equations* 72 (1988), no. 1, 1-27.
- [20] W.-M. Ni, X. B. Pan, I. Takagi, Singular behavior of least-energy solutions of a semilinear Neumann problem involving critical Sobolev exponents. *Duke Math. J.* 67 (1992), no. 1, 1-20.
- [21] W.-M. Ni, I. Takagi, Locating the peaks of least-energy solutions to a semilinear Neumann problem. *Duke Math. J.* 70 (1993), no. 2, 247-281.
- [22] W.-M. Ni, I. Takagi, On the shape of least-energy solutions to a semilinear Neumann problem. *Comm. Pure Appl. Math.* 44 (1991), no. 7, 819-851.
- [23] X. B. Pan, Condensation of least-energy solutions: the effect of boundary conditions. *Nonlinear Anal.* 24 (1995), no. 2, 195-222.
- [24] D. Smets, M. Willem, Partial symmetry and asymptotic behavior for some elliptic variational problems. (English summary) *Calc. Var. Partial Differential Equations* 18 (2003), no. 1, 57-75.

- [25] X.-J. Wang, Neumann problems of semilinear elliptic equations involving critical Sobolev exponents. *J. Differential Equations* 93 (1991), no. 2, 283-310.
- [26] J. Wei, X. Xu, Uniqueness and a priori estimates for some nonlinear elliptic Neumann equations in  $\mathbb{R}^3$ . (English summary) *Pacific J. Math.* 221 (2005), no. 1, 159-165.
- [27] M. Zhu, Uniqueness results through a priori estimates. I. A three-dimensional Neumann problem. (English summary) *J. Differential Equations* 154 (1999), no. 2, 284-317.